MATH pracTice
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’;5’25? ‘1 a Convert all the measurements info
.. i pounds to compare the weights in
it these tall tales. Write the three items
s in order from lightest to heaviest.
CQ Th . - . o * That fish | caught was so big that
‘¢ These are the weights (in pounds) of trees | &ggg.g\b | - o big tha
Paul Bunyan hauled on his shoulder. ‘  picture of it weighed 12 kg.
What is the median in this set e 4
st of daias i l _* The mosquito was so big that it
790 1&?' o0z carried off a 272-ounce turtle.
: * The spider was so big that she

._ fﬁ;-"—'—-'ZEgO laid @ 0.015+0n egg.
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MATH practice

1. Most tall tales are about the weather. Many
others are about a fish someone caught.
During the two-week logging job, workers

“told 75 fish stories and 45 weather tales.

~ Write the function rule.
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Complete the funciion table. Ly
What is the ratio of fish tales to weather TR AL Sl L.
tales®
2. Compute

S2F x 3.7

4, Faul Bunyan trained 2,000-b ants to do
) logging worl.. This weight is closest to:

ikﬂ N2\ a. 9,000kg c. 1,000 kg
b 440 ke c. 900 ke
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2. Pecos Bill had four tasks to do one day,

asks ‘were: riding a cyclone, lassoing
4 runaway frain, rounding up 5,000
nead of cartle, and draining the Rio
>rande. How many combinations of
two things are possible?

2. Compute:

3[-7,590

3. True or false? A tangent is a line

which touches a circle or other curve
only at one point.

4, Simplify.
12 +s9-20 =56

THURSDAY wesx 10

1. Which operation should be done first?
7 +5%-6=

2. ‘Write an equation with integers to
represent and solve this problem.
it was so cold last night that the
stars froze! At midnight it was 14°
below. By 4:00 a.m. the temperature
had dropped 12°, and by 5:00 a.m.

it had dropped another 25°.
How cold was it then?

' 8 .5 -
3. Compute: el

4. Jacob heard 140 campfire tales.
85 percent of them were tall tales.
How many were not tall tales?
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S. Paul Bunyan and his lumberjacks eat so
much that the cook needs o mulfiply this
recipe by 20. Rewrite the recipe as it
needs fo read for Paul’s crew.

beef cubes
wild turkey meat
- 33 I i B crushed garlic

sliced potatoes
carrot chunks
diced onions

1 i crushed oregano

beet broth

over low fire for four hours.
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~'~ 8. Find the difference between the
volumes of the two figures. \/-:'- é R\r\)




